o %g’éf?ﬁﬁﬁ'(%ﬁ‘abéﬁﬁt:\Tf&’(@EY?&ERBH%%:‘f%T(f:%LnERWERBH%%ELx“éﬁtzﬁél,‘(:xﬂﬁt;,ﬁ,ﬁ:‘fuiLf:B\35{1%L\rf}imﬁ@{ﬂggit‘ﬁﬁﬁb\@hﬁ
FEL,
A\ B ERERSYECUROERIE FRERREICEVEEES | FRCTBABUET,
* Y NS OBURSIEBOIERICH D TRV TS L\ REIBEIUN L&Y R D EA L GG EES | SR TBNABYVET,
- BEEBEBLUBIEELECREET SV, AR EPIDHSEE T HANRBETO R EL,
SREDFHBLOTNTOMRD N\~ 1 7ORERE DK — 3 MERSIHABLIL TR,
- RESNRINT RV EFAL R VERLTHB T EELOEIICLTIEL,
AU IEMIBAA TS EET BEREDBIINENRAS TN TOET, N B TFROFOBONEVERICREL T T,
ARBIERNEAOIEENE LTV T AUBEEN CEAT 58 WEDFEE PIHBEESBNHSIET,
BE: HEICET>CHRERDF Ty UANTHVE TORGNBFich HN TREEL,
EAHND LTS NEE DRBRBDBEIE RRDICH ), SEEVOBEOREEE THEEEEL,
REEE: U5y NERRITERT BT BHNIC (DED 3 nBBINFTYILTLE

BETLE&EZZ— VESAFRIET — LA
BT~ DE= 2 —T—Ls
MS112

REX =17V

TV SETTER

E QA

RERICHT EZF—LEEDESET

AORI—FPSRFDESIFR - REDETBRRBEECBEVLLETEY

{ BT RIR M EZZ—HEMIER PNIE BRAE=S—EE

FUAHBINTNT, 75X75mm,  100X100mm 13-32

WHHEEZS—AF
o/ —BECEHIAD EoH—EEICHBEH T AR SAROHE R IE
ES—HENT S b THBE | (ESA 1A AVF

2~8kg é

|

COER BEVEFVALEEBICHUMSE D SENET,

MER(L D | Y (ABAL) H8BAFTLES MEICHETNERETETT.

Ut U B3 - BRYU M ORI B FRISO N TRIEZ S S D ERADTHRICBELE LTI
THCTEB LS VETLOBEOAL LT ET,

HIARR - RUMATARR. BLUVRKEICKDEH - BECDNTII.
—VDRIABZEVWERBADT, TTHESLESL,

cREMETNICEEL. REPICERCHBELCFIEMITIEIBEOEVLSIEETE.

CREBILHEO T THBERAR-REBRELTILE,

cHUMITIRZ2BUETITS CL2M<SHRBENVLLET,

- B ERABLUNTOCER. BROBEHEILAENTILEEL,

CREPICOLTHORRERLBEE. FREPHL. BE<OREERE - ERFEICTHER
SFEELN,

WRICEHTBEENEDE  0422-38-4912 =5/910:00~18:00 (+- B-12<)

RS TT AZ—FSFF kL4t  T180-0006 RREEEEFHHE2-2-2 21 X AHKEESF
https://starplatinum.co.jp/

8 CAUTION: DO NOT /oosen these two screws
counter-clockwise, or it may cause damage to the product.

If the arm drops, tighten the two screws as shown.

9 Note: If the display does
not stop at your desired
position, tighten the
screws as shown.

Fem ey




& I

<
= M-A (x4)
E=>> - as, Max12

D (x1) E (x1) F (x1) G (x1) H (x1) 1 (x1) g

M8
M-B (x4)
M5x12
- Om m [ ==
A (x1) B (x1) J (x1) K (x2) L (x1) M (x1) N (x1) o (x1) P (x1) Q (x1) M-C (x4
M8x20 M6x10 M8x35 M8x60 3mm 4mm 5mm Only LDT71-CO12N Dgx )

1 Clamp Mounting

Grommet Mounting
Only LDT71-CO12N

\
1
1
1

 small—$ & — big |
\ /

Desktop with Existing Through-Hole.

210-60mm

10-45mm (-]

2 10mm

(2 3/8™) %
t

5 \/gigl N ol n

Too long _Too Short

| ) \\
4 \
/ \
M-A i / \
M-B \i | I |
i - 3mm |
i ? P /
M-C ® 4 AN 7
i \\ //




